
Time: 10 Minutes Paper Math 4 Total Marks: 10

1st Month, 1st Week, 5th Day Syllabus: Unit 1 Review Exercise 1Q No. 5, 6, 7, 8, 9

Q.No.1 Encircle the correct answer from the following choices. (5)


i. 90 000 + 7 000 + 600 + 50 + 3 = ?

(a) 97 653 (b) 79 653 (c) 97 365 (d) 97 563

ii. 84 325 is _______ than 93 417.  93 417  84 325

(a) smaller  (b) greater  (c) equal  (d) none 
iii. The given numbers are written in _______ order:  12 683 , 24 313 , 24 891

12 683 , 24 313 , 24 891   
(a) descending order  (b) ascending order 
(c) both (A) and (B)  (B)  (A) (d) none of these 

iv. The arrangement of numbers from the smallest to greatest is called:


(a) ascending order  (b) descending order 
(c) both (A) and (B)  (B)  (A) (d) none of these 

v. Arrange the following numbers 83 401, 97 035, 12 337 is ascending order:

12 337,97 035,83 401 
(a) 83 401 , 12 337 , 97 035 (b) 12 337 , 97 035 , 83 401

(c) 12 337 , 83 401 , 97 035 (d) 97 035 , 83 401 , 12 337

Q.No.2.   Write the following in standard form.   (2) 
(i) 20 000 + 9 000 + 100 + 00 + 4 = _______________________________

(ii) 10 000 + 6 000 + 700 + 80 + 5 = _______________________________

Q.No.3.   Compare the following numbers by using symbols (< , > , =) (1)

 (< , > , =) 
(i) 75 326 ________ 21 365

Q.No.4.   Write the following numbers in an ascending order. (1)


94 041 , 84 405 , 33 731 ___________________________________________

Q.No5.   Write the following numbers in descending order. (1)


54 788 , 54 786 , 54 790 ___________________________________________
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